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Section A ( 40 Marks )

Questions 1 to 20 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided. 

1.    Look at the 6 numbers below. Which two numbers make 8?
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      (1) 5 and 2

      (2) 5 and 3

      (3)
7 and 3

      (4)
9 and 2




(
)

2. Which is the smallest number in the box?
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      (1) 7

      (2)
6

      (3)
4

      (4)
3





(
)

3. What is the missing number in this series?
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      (1)
7

      (2)
8

      (3)
9

      (4)
11





(
)


4. Complete the number bonds.
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      (1)
3

      (2)
4

      (3)
5

      (4)
14





(
)

5.   2 + _____ = 10

     (1) 3

     (2) 7

     (3) 8

     (4) 12





(    
)

6.   3 + 4 + 2 = ______

(1)
5

(2)
6

(3)
7

(4)
9





(  
  )

7.  9 – 0 = ______

(1)
0

(2)
9

(3)
19

(4)
90





(
)

8.  ____ + 6 = 8

     (1) 2

     (2)
4

     (3) 14

     (4) 68





(
)

9.  3 + 4 = _____ + 2

      (1)
5

      (2)
6

      (3)
7

      (4)
9





(
)

10.  13 – 9 = ______.

(1) 1

(2) 4

(3) 9

(4) 13





(
)

11. 6 and ______ make 11.

(1) 4

(2) 5

(3) 15

(4) 17

12. 19 - _______ = 7

(1) 12

(2) 15

(3) 22

(4) 26





(
)

13. 10 + 5 + 5 = _______.

(1) 10

(2) 15

(3) 20

(4) 65





(
)

14. 3 + 2 = 5 + _______.

(1) 0

(2) 5

(3) 8

(4) 10





(
)

15. 6 + 7 is the same as __________.

(1) 2 + 10

(2) 3 + 9

(3) 4 + 8

(4) 5 + 8

16. The numbers in the boxes below are _____ and ______.
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(1) 5,9

(2) 6,8

(3) 7,9

(4) 8,7





(
)

17. _______ is bigger than 8 + 9?

(1) 14

(2) 16

(3) 17

(4) 19





(
)

18. Which 2 sets contain the same answer?
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  ( a )


   ( b)

          ( c )

       ( d )

(1) a and b

(2) b and c

(3) b and d

(4) a and d




(
)

19. 15 – 7 = 1 + 3 + ______.

(1) 2

(2) 3

(3) 4

(4) 5





(
)

20. What are the numbers in the boxes below?
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(1) 11,6

(2) 12,7

(3) 12,8

(4) 14,9





(
)

Section B ( 40 marks )

Questions 21 to 40 carry 2 marks each. For each question, write the answer on the space provided. 

Count and write the number in words.
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21.
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22. 



. 

23. Tick the set that has more.


     B


24. The number between 16 and 18 is ______.      .

25. _______ comes just before 7.

26. 13 comes just after _______.  
           .

27. Write an addition sentence for this picture.





        +

      =


28. Write a subtraction sentence for this picture.






         -

       =

29. Look at the number pattern carefully and fill in the missing numbers.



30. Arrange the numbers in order. Begin with the smallest.



4
20
11
9
17


31. Use the numbers and signs in the box to write a number sentence.



32. I am less than 17.

      I am more than 15.

      What am I? _______.





33. 13 and _______ make 20.

34. Put a tick in the box under the oval that has an answer less than 12.




35. Circle the bird that is between the fourth and sixth bird from the right.

Look at the picture below and answer questions 36 and 37.









36. The knife is ______
       longer than the spoon.

37. The total length of the fork and the knife is _______
  long.

38.









Which is the heaviest box? Box ______.


39. Which shape comes next? Draw it.




40. The picture below is made up of many shapes. Look at it carefully then fill in 
 the blanks.






There are _______ triangles and _______ rectangles.

Section C (20 marks)

Questions 41 to 45 carry 4 marks each. For each of the following problem sum, show your work clearly in the space provided. 

41. Alex has 8 toy cars. David gives him 6 more. How many toy cars does Alex have now?






       


Alex has _______ toy cars.

42. After using 4 eggs, Mrs. Smith had 6 eggs left. How many eggs did she have at first?






       

She had _______ eggs at first.

43. Mary baked 20 tarts. She ate 4 tarts and gave 10 tarts to her friend. How many tarts had she left?



She had ______ tarts left.

44. Tom had 6 pencils. He bought some more pencils. He then had 17 pencils. 
 How many pencils did he buy?





         


He bought _______ pencils.

45. There are 18 pages in a book. Sally read 9 pages. How many more pages  
 must she read to finish the book?



She must read _______ more pages to finish the book.

Placement Test for Primary Mathematics 1A

Answer Key

1) 2

11) 2

21) Twelve

31) 5 + 9 =14

41) 8+6=14

2) 4

12) 1

22) Twenty

32) 16

 
42) 4+6=10

3) 2

13) 3

23) 


33) 7


43) 20-4-10=6      


4) 2

14) 1




34) 17 – 9 

44) 17-6=11

5) 3

15) 4

24) 17


35) circle 4th bird
45) 18-9=9

6) 4

16) 3

25) 6


36) 3

7) 2

17) 4

26) 12


37) 16

8) 1

18) 4

27) 7 + 4 = 11
38) D

9) 1

19) 3

28) 9 – 4 = 5

39) 


 10) 2

20) 3

29) 18, 9






30) 4,9,11,17,20
40) 6, 6
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